Best model for HELP J161116.882+552911.843 at z = 2.118 x2=1.37
OPTx2=1.48 IRx?=1.45 threshold (OPT IR)=24.94 [um]

2 1 : Stellar attenuated
10- 4 e Stellar unattenuated
] . [] —— Dust emission
1 1 . m —— AGN emission
10 E = Model spectrum
] . ® Model fluxes
] : M oObserved fluxes
100 E
z ]
€ 1071 5
) vr’!”ﬁm\\_R\Yr-—--.«-w-r(—*‘-\\'_‘
R
o 107° 3
10—3 4
10—4 4
pad
=}
—
= ==f=(Obs-Mod)/Obs
=}
o
n
o O+ tH-drAY——ammopf—m |- A b e
b ]
" ]
2 1
5 ]
o -1 ClGAL
(V]
[a'd

10° 10! 102 103 10% 10° A
Observed wavelength [um]



